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1) When the input voltage rises, the output voltage becomes the same as the input voltage.
Is this correct operation of the TPS796?
2) If it is correct, could you tell me why this operation occurs based on the internal structure?



Comparison of Waveforms of Two Devices
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1) The rise behavior of the two devices appears to be the same. Is this correct?
2) If it is correct, could you tell me why this operation occurs based on the internal structure?
If it is not correct, could you tell me why this operation occurs based on the internal structure?
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